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Q1. (5 marks)
a. Complete the timing diagram for CTUD
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Note: PV=3

b. Complete the timing diagram for (TON with PT=3ms, TOF with PT=4 ms and TP with PT=8 ms)

e e ™ L T

Note: The period = 12ms
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Q2. Choose the correct answer (3 Marks)

1. An opto-isolator is used to:

a) Rectify AC inputs b) Control AC inputs

¢) Electrically isolate the processor from inputs and outputs  d) Electrically isolate inputs from
outputs

2. It the preset time of a timer were 150 and the time base is 100ms, the time delay period would be
1500 sec

a) TRUE b) FALSE

3. To increase the number of inputs and outputs of the PLC, one can use expansion modules.
a. True b. False

Q3. Complete the following (20 Marks)

1. Different memory areas have to be assigned to an FB if ...

2. Some instructions such as . R behave hke functlon blocks. If they are called.
3. The memory areas that step ? 1200 CPU prov1des the following to store the user program are

4 The output types o PLIE AR v cisni dsmamisuinnii e s e s s sviva s
T form the interface between the operating system and the user program.

6. Addressing Mode in PLCsare .............c.ccovinans

7. #inl Thistype of addiesting €alled .oovmsmmvissuivens

8. Supported Programming Languages in TIA portal .......................

9. Analog inputs in PLC 1200 has range of .............c...... and resolution....................

10. Complete the following table.

Integrated I/O CPU 1211C CPU 1212C CPU 1214C CPU 1215C

Integrated digital I/O

Integrated analog I/O

Q4. Design ( 12 Marks)
a. Convert the following timing diagram into ladder diagram (3 Marks)
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b. Convert the following flow chart into ladder diagram

¢. Design program that generate continues pulse with period 5ms
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